RARBIFER
B RAGEEN

A4S 50148013

HT5BI/4

The Sensor People

B A Re @

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

Leuze

&

- BERSH
- RNTE%
- BRIER
- BR

- BENE
- FmE
- A

- EZER
- B

do Em
B Sl

(€ @ =~

LISTED

UK
CA

info@leuze.com « www.leuze.com REBFEAREEHA
EiE : +49 7021 573-0 « f£E : +49 7021 573-199  chi *» 2025-06-05 17



BESMEAHEN - BEHF%RS: 50148013 « HT5BI/4

BRSH

ERiiE

EX ]
THERE

KR

Re/peiRE
KM EEE

KM, B 90%
RNEEE, [RE 18%
KN, B 6%
3B E R
B E R
HEEE

SeEm

HR

P

RRES KT

LED 4
SBEILAIRARSE R

R

BAHIE
RIF R

MHREBUIE
fren e U,
RSB
e

i
EESIES -ttt

FF <B4 H
EBERE
BRAFFRER
FrREBE

FrREH 1
FFRTTAF
FREREE

Vs

FrIRE
) 7 Bt (8]
HERT

pE 23

EH1

hae

el

BYHRKE
PEME
BAHE
SLBE
B EE

The Sensor People

5B
TE RGN AHERE

< 15% Bf &+ 200 mm
BRI IEE
0.002...04 m

0.005 ... 0.3 m
0.01..02m

0.002 ... 0.4 m
AN E

20 ... 400 mm

RE

LED, a5 %

850 nm

790

B4 (1BHE EN 62471)
il

Eij

200 mm

RARHERSE
RRERY

10...30V, DC, BERRFEXE
0..15%, kKB Ug
0..15mA

DC

50 mA

£ : <25V

: 2(Ug2,5V)

=

K|

&, PNP

T

— dit Eo

t
&
BB U, RARM )

1,000 Hz
0.5ms
300 ms

{He iR
[eeE Ok
R
2,000 mm
PVC
26
3T

0.14 mm?

Leuze electronic GmbH + Co. KG

In der Braike 1, 73277 Owen

WS

RYI(Ex@mxK)
SA=AR
BWRIAFE

L FMHR

BE

A=HE

REFEH

MERE N

BREMETR

BRHEH
LEDZ#
Ry
RAEREIThEE

B HIR

HERE , T
HRERE ,

TAE
DA
REER
IAIE
BRI
BRRS
ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ECLASS 15.0
ETIM 5.0
ETIM 6.0
ETIM 7.0
ETIM 8.0
ETIM 9.0
ETIM 10.0

info@leuze.com « www.leuze.com

BBif : +49 7021 573-0 « £ : +49 7021 573-199

Leuze

11 mm x 32.4 mm x 20 mm
2R

PC-ABS

2BEHPMMA)

44 g

ae

26

A M3 B EE

B AERERE
ECOLAB

LED
24
Eu |
HEEE A%

-40...60 °C
-40...70°C

IP 67

1l

cULUS

IEC 60947-5-2

85365019
27270904
27270904
27270904
27270904
27270904
27270903
27270903
27270903
27270903
EC002719
EC002719
EC002719
EC002719
EC002719
EC002719

REBAREEHRF
chi « 2025-06-05 2/7



BRI HIAHEN - BLFY4RS: 50148013 - HT5BI/4

R E4

33,3

11

NN

9,1-10,9

NN

13,2

N

/ 32,4 \

1

M8x1

114

| —C1

™~ C2

A HELED
HEBLED
B
KEER
REEE A
BYEE

C1
Cc2

.

FIARS B REXK
20
_ M3
E\‘%
I %
<
g =)
E\ \ @
Q_
e}
2,9
10,6
W
=3
BRERE
EE
Ihee
Bl
HAKE
FEMH
BAHE
SLHBE
®OBE
D&
B
Ee
26

V)
o
—
—]
EA
B

~N

M12x1

The Sensor People

—1
w

=

s

M8x1

M8x1

He iR
B
B
2,000 mm
PVC

2e

3

0.14 mm?

R BIR

V+
GND
OUT 1

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

Leuze

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBAREEHRF

chi + 2025-06-05

3/7



BESMEAHEN - BEHF%RS: 50148013 « HT5BI/4

Eipap

Leuze

90 % =EM IR ERE (FEERE 200 mm)

y
8
6 - T -
4 L s S 7
N
2 \
g 20 40 60 80 100 120 140 160 180 2
4 /|
6 1 | Y1
-8
Ty
AET:J_]-_- y1

90 % =ER IR ERE (FEERE 400 mm)

15y
10 =
L \\_______\)/2 /
0 50 100 150 200 250 300 350 4
-5 A\
y1
-10 \
-15
Ty
AET:J_]-_- y1
X
RERARE
120y T I
— A
100+ ___ g y
80+—-—-C —Z
60 S
7 ¥
40 >
- 1
20 —— =
0 _—— == X
0 50 100 150 200 250 300 350 400

The Sensor People

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

X
y

x

< X

O @ >

AHETEE [mm]
"% [mm]

HIFTE [mm]
fR% [mm]

HAEREE [mm)
AWBELE D [mm]

H&90%
X18%
BE6%

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBAREEHRF
chi « 2025-06-05

417



BRI HIAHEN - BLFY4RS: 50148013 - HT5BI/4

BRENE TR

LED ER

1 B, KR
2 26, K%
7= mE S IR

F=mAB¥ . AAA5B D-E.FF/GG.HH-JJ

AAAS5B

FF

GG

HH

JJ

IhEeIRE [ i1t

LS5B : X4 ER LRSS (KX )

LE5B : X¥ 4% st Bag (5= )

PRKS5B : 5 fm iR i8 f 3R Y 4 [ 59 B 3K etz kB
HT5B : &5 SR8 R 5112 Bids

ET5B : #8587 [z 51 ¢ B 1% Biaq

FEH

BUH : 4%

| : 5%

PP: Power PinPoint LED

FIRBEWRAETE ("t )

BUH - ®NSEERBEER

xxxF : FR B FEEE [mm)

®E

1: B{it 270°

D : WA BEBEE =R

M : ¥ZEHN R AEREEIR 5

XL : BB

B 5T R KA RES (PRK) LEUE : RNSEE R
ET/HT LEUE : AEX 8 REMATHIEEE
FRFI5 5 / ThéE

2 :NPN @&#&EHmbiE , =8

N : NPN @EER R , EE

4 : PNP @& ERLR , T8

P : PNP &#Em b , BE

9: FIlEMA (BISBEFESEL)

X : BIMIKRA

BSERE

BUH : 845, FEKE 2000 mm , 3 &

M8 : M8 EliEHERR , 4 £ (f@k )

200-M12 : 845 |, KE 200mm , i M12 BEE#ESS 4 5, B (&
200-M8 : B4 , K 200mm , 7 M8 BElERERS , 4 &, B (L)

Leuze

BiEA

k700N
R

%)

200-M8.3 : 4% , & 200mm , # M8 [EERESR | 3 & , B (X )
200-M8.1 : B85 , KE 200mm , HBIEMN , M8 FEEHESR , 4 & (%)

M8.3 : M8 BEIiE#ERS , 3 4 (H@k)

e
Y1: TRAEHNEELL

Y FIE T AR X EIIREE R 5 NAI ML www.leuze.com,

A Y4

)

B

/\ esasnemne

S AFEmAERELRE  RERTARRY,
© REERT A SFAFRBEAIET.
& FEURTE W AR A A Mo

The Sensor People

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBAREEHRF
chi « 2025-06-05

5/7



BRI HIAHEN - BLFY4RS: 50148013 - HT5BI/4

. Leuze

HXWULRA :
& QEATF2KEE

% These proximity switches shall be used with UL Listed Cable assemblies rated 30V, 0.5A min, in the field installation, or equivalent (categories: CYJV/
CYJV7 or PVVA/PVVAT7)

EZER

- WMIRRNTERXE  ARTE  FAIERIER / HXNRTYE ( BE 90% ) HiEETE
- RN : #NTETEDEEENRITE

o KR 25°CINRRER K TG A FdH 7100000/ 6t

o TRIETIE: R TRERIEHERETE |, BWEMERELA A 5kOhm

BLfF
RERS - REXR

Bms =N [iTRe 83
p— 50118542 BT 200M.5 REXH RFEQEGTH EAK L
= BENEEY: BARE
sl REMEEM: BHER, TR T M3 134
| RRIRERE: 7
Mk W
50124651 BT 205M-10SET REREIRE RERERIH L HAE

REMEEMF: BARE
KEMEEMF: e
RERZRE: Rt

HH: 28
1 =
ZERS - BEM
B ms B [T i8R
50117829 BTP 200M-D12 BRRE RIIGRZI P E

REMEEH: BT 12mmiT
REMEEG: BHEX

RERZRA: ARE, WFT, fEkk , 360
wE: &R

50117255 BTU 200M-D12 RERE RBERIRZIZI RERK
RZMEEH: ETF12mm#T, Ix-& 8 E
KEMEEH: B, AT M3 iR
RIRERA: ARE, AET, HEk , 360
wE: &R

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi + 2025-06-05 6/7



BRI HIAHEN - BLFY4RS: 50148013 - HT5BI/4

B Leuze

b FA A AEFR SR E NS 5 A M B A E R TUE K T 8IET .

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi + 2025-06-05 7



